Permit

King County PARKS

King Street Center 201 S Jackson Street Seattle, WA, US 98104 PHONE:(206) 477-6150

Permit # R14315

Status Approved Date Jan 6, 2025 1:18 PM

Organization Name American Recreation Cricket League - RSO -

23

Customer Type General Public **Organization Address** 2424 212th Ave SE

Sammamish, WA 98075

Cell Phone Number Agent Name Ilyas Mohamed (425) 753-7060

Email Address itsilyas@gmail.com

System User Emily Sullivan Payer American Recreation Cricket League - RSO

> Rental Fee \$45,457.00 Discounts \$0.00 Subtotal \$45,457.00 Deposits \$0.00 Deposit Discounts \$0.00 Total Permit Fee \$45,457.00 Total Payment \$500.00 Refunds \$0.00 Balance \$44,957.00

2025 - American Recreation Cricket

87 booking(s) 3 resource(s)

Subtotal: \$45,457.00

Booking Summary

Big Finn - Soccer - Soccer (Athl	etic Fields)		Center: Big Finn Hill Park	
START DATE/TIME		END DATE/TIME	ATTENDEE	AMT W/O TAX
Sat, Mar 15, 2025 4:00 PM		Sat, Mar 15, 2025 9:00 PM	50	\$346.00
Athletic - Lights	\$23.00 / Hour x 2	\$46.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Mar 22, 2025 4:00 PM		Sat, Mar 22, 2025 9:00 PM	50	\$346.00
Athletic - Lights	\$23.00 / Hour x 2	\$46.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Mar 29, 2025 4:00 PM		Sat, Mar 29, 2025 9:00 PM	50	\$334.50
Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Apr 5, 2025 4:00 PM		Sat, Apr 5, 2025 9:00 PM	50	\$334.50
Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, Apr 6, 2025 9:00 AM		Sun, Apr 6, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Apr 12, 2025 4:00 PM		Sat, Apr 12, 2025 9:00 PM	50	\$334.50

R14315 Status Approved Page 1 of 8

Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, Apr 13, 2025 9:00 AM	Su	ın, Apr 13, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Apr 19, 2025 4:00 PM	Sa	at, Apr 19, 2025 9:00 PM	50	\$323.00
Athletic - Lights	\$23.00 / Hour x 1	\$23.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, Apr 20, 2025 9:00 AM	Su	ın, Apr 20, 2025 9:30 PM	50	\$784.50
Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sat, Apr 26, 2025 4:00 PM	Sa	at, Apr 26, 2025 9:00 PM	50	\$323.00
Athletic - Lights	\$23.00 / Hour x 1	\$23.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, Apr 27, 2025 9:00 AM	Su	ın, Apr 27, 2025 9:30 PM	50	\$784.50
Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sat, May 3, 2025 4:00 PM	Sa	at, May 3, 2025 9:00 PM	50	\$323.00
Athletic - Lights	\$23.00 / Hour x 1	\$23.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, May 4, 2025 9:00 AM	Su	ın, May 4, 2025 9:30 PM	50	\$784.50
Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sat, May 10, 2025 4:00 PM		nt, May 10, 2025 9:00 PM	50	\$311.50
Athletic - Lights	\$23.00 / Hour x 0.5	\$11.50		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, May 11, 2025 9:00 AM		ın, May 11, 2025 9:30 PM	50	\$773.00
Athletic - Lights	\$23.00 / Hour x 1	\$23.00		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00	F0	¢244.50
Sat, May 17, 2025 4:00 PM		at, May 17, 2025 9:00 PM	50	\$311.50
Athletic - Lights Athletic - Synthetic	\$23.00 / Hour x 0.5 \$60.00 / Hour x 5	\$11.50 \$300.00		
Sun, May 18, 2025 9:00 AM		un, May 18, 2025 9:30 PM	50	\$773.00
Athletic - Lights	\$23.00 / Hour x 1	\$23.00	50	\$773.00
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sat, May 31, 2025 9:00 AM		at, May 31, 2025 9:30 PM	50	\$773.00
Athletic - Lights	\$23.00 / Hour x 1	\$23.00		Ψ//0.00
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sun, Jun 1, 2025 9:00 AM		ın, Jun 1, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Jun 7, 2025 9:00 AM		at, Jun 7, 2025 9:30 PM	50	\$761.50
Athletic - Lights	\$23.00 / Hour x 0.5	\$11.50		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sun, Jun 8, 2025 9:00 AM	Su	ın, Jun 8, 2025 2:00 PM	50	\$300.00

R14315 Status Approved Page 2 of 8

Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Jun 14, 2025 9:00 AM	Sa	at, Jun 14, 2025 9:30 PM	50	\$761.50
Athletic - Lights	\$23.00 / Hour x 0.5	\$11.50		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sun, Jun 15, 2025 9:00 AM	Su	ın, Jun 15, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Jun 21, 2025 9:00 AM	Sa	at, Jun 21, 2025 9:30 PM	50	\$761.50
Athletic - Lights	\$23.00 / Hour x 0.5	\$11.50		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sun, Jun 22, 2025 9:00 AM	Su	ın, Jun 22, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Jun 28, 2025 9:00 AM	Sa	at, Jun 28, 2025 9:30 PM	50	\$761.50
Athletic - Lights	\$23.00 / Hour x 0.5	\$11.50		
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sun, Jun 29, 2025 9:00 AM	Su	ın, Jun 29, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Jul 19, 2025 9:00 AM	Sa	nt, Jul 19, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sun, Jul 20, 2025 9:00 AM	Su	ın, Jul 20, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Jul 26, 2025 9:00 AM	Sa	at, Jul 26, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sun, Jul 27, 2025 9:00 AM	Su	ın, Jul 27, 2025 2:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Aug 2, 2025 9:00 AM	Sa	at, Aug 2, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sun, Aug 3, 2025 9:00 AM	Sı	ın, Aug 3, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sat, Aug 9, 2025 3:00 PM	Sa	at, Aug 9, 2025 8:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, Aug 10, 2025 3:00 PM	Su	ın, Aug 10, 2025 8:00 PM	50	\$300.00
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Aug 16, 2025 9:00 AM	Sa	at, Aug 16, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sun, Aug 17, 2025 9:00 AM	Su	ın, Aug 17, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sat, Aug 23, 2025 9:00 AM	Sa	at, Aug 23, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sun, Aug 24, 2025 9:00 AM	Su	ın, Aug 24, 2025 7:00 PM	50	\$600.00
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sat, Sep 6, 2025 12:00 PM	Sa	at, Sep 6, 2025 7:30 PM	50	\$450.00
Athletic - Synthetic	\$60.00 / Hour x 7.5	\$450.00		

R14315 Status Approved Page 3 of 8

Sat, Sep 13, 2025 12:00 PM	Sa	at, Sep 13, 2025 7:30 PM	50	\$461.50
Athletic - Lights	\$23.00 / Hour x 0.5	\$11.50		
Athletic - Synthetic	\$60.00 / Hour x 7.5	\$450.00		
Sat, Sep 20, 2025 12:00 PM	Sc	at, Sep 20, 2025 7:30 PM	50	\$461.50
Athletic - Lights	\$23.00 / Hour x 0.5	\$11.50		7
Athletic - Synthetic	\$60.00 / Hour x 7.5	\$450.00		
Sat, Sep 27, 2025 8:00 AM		at, Sep 27, 2025 8:30 PM	50	\$796.00
Athletic - Lights	\$23.00 / Hour x 2	\$46.00		******
Athletic - Synthetic	\$60.00 / Hour x 12.5	\$750.00		
Sat, Oct 4, 2025 3:00 PM		at, Oct 4, 2025 8:00 PM	50	\$334.50
Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		40000
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Oct 11, 2025 3:00 PM	Se	at, Oct 11, 2025 8:00 PM	50	\$346.00
Athletic - Lights	\$23.00 / Hour x 2	\$46.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Oct 18, 2025 3:00 PM	Sa	at, Oct 18, 2025 8:00 PM	50	\$346.00
Athletic - Lights	\$23.00 / Hour x 2	\$46.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sat, Oct 25, 2025 3:00 PM	Sa	at, Oct 25, 2025 8:00 PM	50	\$346.00
Athletic - Lights	\$23.00 / Hour x 2	\$46.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Petrovitsky - Cricket (Athletic Fie			Center: Petrovitsky Park	
START DATE/TIME	Er	ND DATE/TIME	ATTENDEE	AMT W/O TAX
Sun, Mar 16, 2025 4:00 PM	Sı	un, Mar 16, 2025 9:00 PM	50	\$346.00
Athletic - Cricket				φο.σ.σσ
Athlotic Lielete	\$60.00 / Hour x 5	\$300.00		φσ
Athletic - Lights	\$60.00 / Hour x 5 \$23.00 / Hour x 2	\$300.00 \$46.00		ψο . σ. σ.
_	\$23.00 / Hour x 2		50	·
_	\$23.00 / Hour x 2	\$46.00	50	
Sun, Mar 23, 2025 4:00 PM	\$23.00 / Hour x 2	\$46.00 un, Mar 23, 2025 9:00 PM	50	·
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights	\$23.00 / Hour x 2 \$40.00 / Hour x 5 \$23.00 / Hour x 2	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00	50 50	\$346.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00		\$346.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 \$0.00		\$346.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00		\$346.00 \$300.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 et, Mar 29, 2025 6:00 PM \$300.00 \$0.00 et, Apr 5, 2025 8:30 PM \$300.00	50	\$346.00 \$300.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket Athletic - Lights	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour x 1	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 \$0.00 at, Apr 5, 2025 8:30 PM \$300.00 \$23.00	50	\$346.00 \$300.00 \$323.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour x 1	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 et, Mar 29, 2025 6:00 PM \$300.00 \$0.00 et, Apr 5, 2025 8:30 PM \$300.00	50	\$346.00 \$300.00 \$323.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket Athletic - Lights Sat, Apr 26, 2025 12:00 PM Athletic - Cricket	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5 \$23.00 / Hour x 1 \$60.00 / Hour x 7.5	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 \$0.00 at, Apr 5, 2025 8:30 PM \$300.00 \$23.00 at, Apr 26, 2025 7:30 PM \$450.00	50	\$346.00 \$300.00 \$323.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket Athletic - Lights Sat, Apr 26, 2025 12:00 PM Athletic - Lights	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5 \$23.00 / Hour x 1 \$60.00 / Hour x 7.5 \$23.00 / Hour	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 \$0.00 at, Apr 5, 2025 8:30 PM \$300.00 \$23.00 at, Apr 26, 2025 7:30 PM \$450.00 \$0.00	50	\$346.00 \$300.00 \$323.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket Athletic - Lights Sat, Apr 26, 2025 12:00 PM Athletic - Lights	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5 \$23.00 / Hour x 1 \$60.00 / Hour x 7.5 \$23.00 / Hour	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 \$0.00 at, Apr 5, 2025 8:30 PM \$300.00 \$23.00 at, Apr 26, 2025 7:30 PM \$450.00	50	\$346.00 \$300.00 \$323.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket Athletic - Lights Sat, Apr 26, 2025 12:00 PM Athletic - Cricket Athletic - Lights Sat, May 3, 2025 12:00 PM Athletic - Lights	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour \$60.00 / Hour x 5 \$23.00 / Hour x 1 \$60.00 / Hour x 7.5 \$23.00 / Hour \$60.00 / Hour x 7.5 \$23.00 / Hour \$60.00 / Hour x 7.5	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 at, Apr 5, 2025 8:30 PM \$300.00 at, Apr 26, 2025 7:30 PM \$450.00 at, May 3, 2025 7:30 PM \$450.00	50	\$346.00 \$300.00 \$323.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket Athletic - Lights Sat, Apr 26, 2025 12:00 PM Athletic - Cricket Athletic - Lights Sat, May 3, 2025 12:00 PM Athletic - Lights	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour x 1 \$60.00 / Hour x 7.5 \$23.00 / Hour \$60.00 / Hour x 7.5 \$23.00 / Hour \$60.00 / Hour x 7.5 \$23.00 / Hour	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 \$0.00 at, Apr 5, 2025 8:30 PM \$300.00 \$23.00 at, Apr 26, 2025 7:30 PM \$450.00 \$0.00 at, May 3, 2025 7:30 PM \$450.00 \$0.00	50 50 50	\$346.00 \$300.00 \$323.00 \$450.00
Sun, Mar 23, 2025 4:00 PM Athletic - Cricket Athletic - Lights Sat, Mar 29, 2025 1:00 PM Athletic - Cricket Athletic - Lights Sat, Apr 5, 2025 3:30 PM Athletic - Cricket Athletic - Lights Sat, Apr 26, 2025 12:00 PM Athletic - Cricket Athletic - Lights Sat, May 3, 2025 12:00 PM Athletic - Lights	\$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 2 \$60.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour x 5 \$23.00 / Hour x 1 \$60.00 / Hour x 7.5 \$23.00 / Hour \$60.00 / Hour x 7.5 \$23.00 / Hour \$60.00 / Hour x 7.5 \$23.00 / Hour	\$46.00 un, Mar 23, 2025 9:00 PM \$300.00 \$46.00 at, Mar 29, 2025 6:00 PM \$300.00 at, Apr 5, 2025 8:30 PM \$300.00 at, Apr 26, 2025 7:30 PM \$450.00 at, May 3, 2025 7:30 PM \$450.00	50	\$346.00 \$300.00 \$323.00

R14315 Status Approved Page 4 of 8

Athletic - Lights	\$23.00 / Hour	\$0.00		
Sun, May 18, 2025 8:00 AM	Su	ın, May 18, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sat, Jun 7, 2025 8:00 AM	Sa	nt, Jun 7, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sun, Jun 8, 2025 8:00 AM	Su	ın, Jun 8, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sat, Jun 14, 2025 8:00 AM	Sa	nt, Jun 14, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sun, Jun 15, 2025 8:00 AM	Su	ın, Jun 15, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sat, Jun 21, 2025 8:00 AM	Sa	nt, Jun 21, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sun, Jun 22, 2025 8:00 AM	Su	ın, Jun 22, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sat, Jun 28, 2025 8:00 AM	Sa	nt, Jun 28, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sun, Jun 29, 2025 8:00 AM	Sı	ın, Jun 29, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sat, Jul 19, 2025 8:00 AM	Sa	nt, Jul 19, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sun, Jul 20, 2025 8:00 AM	Su	ın, Jul 20, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sat, Jul 26, 2025 8:00 AM	Sa	nt, Jul 26, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sun, Jul 27, 2025 8:00 AM	Su	ın, Jul 27, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		
Sat, Aug 2, 2025 8:00 AM	Sa	nt, Aug 2, 2025 8:30 PM	50	\$750.00
Athletic - Cricket	\$60.00 / Hour x 12.5	\$750.00		
Athletic - Lights	\$23.00 / Hour	\$0.00		

R14315 Status Approved Page 5 of 8

\$60.00 / Hour x 12.5	\$750.00		
¢22.00./11			
\$23.00 / Hour	\$0.00		
!	Sat, Aug 23, 2025 8:30 PM	50	\$761.50
\$60.00 / Hour x 12.5	\$750.00		
\$23.00 / Hour x 0.5	\$11.50		
:	Sun, Aug 24, 2025 8:30 PM	50	\$761.50
\$60.00 / Hour x 12.5	\$750.00		
\$23.00 / Hour x 0.5	\$11.50		
:	Sun, Oct 19, 2025 9:00 PM	50	\$300.00
\$60.00 / Hour x 5	\$300.00		
:	Sun, Oct 26, 2025 9:00 PM	50	\$300.00
\$60.00 / Hour x 5	\$300.00		
Soccer (Athletic Fields)		Center: Redmond Ridge Park	
	END DATE/TIME	ATTENDEE	AMT W/O TAX
:	Sat, Jul 12, 2025 7:00 PM	50	\$600.00
\$60.00 / Hour x 10	\$600.00		
:	Sun, Jul 13, 2025 7:00 PM	50	\$300.00
\$60.00 / Hour x 5	\$300.00		
:	Sat, Jul 19, 2025 7:00 PM	50	\$600.00
\$60.00 / Hour x 10	\$600.00		
	Sun, Jul 20, 2025 7:00 PM	50	\$600.00
\$60.00 / Hour x 10	\$600.00		
	Sat, Jul 26, 2025 7:00 PM	50	\$600.00
		50	\$600.00

		50	\$357.50
		30	\$337.30
		50	\$369.00
		30	ψ303.00
		50	\$369.00
			+-00.00
	\$300.00		
		50	\$346.00
\$23.00 / Hour x 2	\$46.00		
\$60.00 / Hour x 5	\$300.00		
		50	\$346.00
	\$46.00		
\$60.00 / Hour x 5	\$300.00		
	\$60.00 / Hour x 12.5 \$23.00 / Hour x 0.5 \$60.00 / Hour x 12.5 \$23.00 / Hour x 0.5 \$60.00 / Hour x 5 \$60.00 / Hour x 10 \$23.00 / Hour x 2.5 \$60.00 / Hour x 5 \$23.00 / Hour x 5	\$23.00 / Hour x 0.5 \$11.50 Sun, Aug 24, 2025 8:30 PM \$60.00 / Hour x 12.5 \$750.00 \$23.00 / Hour x 0.5 \$11.50 Sun, Oct 19, 2025 9:00 PM \$60.00 / Hour x 5 \$300.00 Soccer (Athletic Fields) FND DATE/TIME Sat, Jul 12, 2025 7:00 PM \$60.00 / Hour x 10 \$600.00 Sun, Jul 13, 2025 7:00 PM \$60.00 / Hour x 10 \$600.00 Sun, Jul 20, 2025 7:00 PM \$60.00 / Hour x 10 \$600.00 Sun, Jul 20, 2025 7:00 PM \$60.00 / Hour x 10 \$600.00 Sun, Jul 20, 2025 7:00 PM \$60.00 / Hour x 10 \$600.00 Sun, Jul 27, 2025 7:00 PM \$60.00 / Hour x 10 \$600.00 Sun, Oct 5, 2025 9:00 PM \$23.00 / Hour x 10 \$600.00 Sun, Oct 5, 2025 9:00 PM \$23.00 / Hour x 5 \$300.00 Sat, Oct 11, 2025 9:00 PM \$23.00 / Hour x 3 \$69.00 \$20.00 / Hour x 5 \$300.00 Sun, Oct 12, 2025 9:00 PM \$23.00 / Hour x 2 \$46.00 \$20.00 / Hour x 5 \$300.00 Sat, Oct 18, 2025 8:00 PM \$23.00 / Hour x 5 \$300.00 Sun, Oct 19, 2025 8:00 PM	\$60.00 / Hour x 12.5 \$750.00 \$23.00 / Hour x 12.5 \$750.00 \$300 / Hour x 12.5 \$750.00 \$23.00 / Hour x 12.5 \$750.00 \$23.00 / Hour x 12.5 \$750.00 \$23.00 / Hour x 5 \$300.00 \$500.00 / Hour x 10 \$600.00 \$500.00 / Hour x 2.5 \$7.50 \$60.00 / Hour x 2.5 \$300.00 \$500.00 / Hour x 5 \$300.00

R14315 Status Approved Page 6 of 8

Sat, Oct 25, 2025 3:00 PM	S	at, Oct 25, 2025 8:00 PM	50	\$346.00
Athletic - Lights	\$23.00 / Hour x 2	\$46.00		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		
Sun, Nov 2, 2025 9:00 AM	S	un, Nov 2, 2025 7:00 PM	50	\$634.50
Athletic - Lights	\$23.00 / Hour x 1.5	\$34.50		
Athletic - Synthetic	\$60.00 / Hour x 10	\$600.00		
Sat, Nov 8, 2025 4:00 PM	S	at, Nov 8, 2025 9:00 PM	50	\$403.50
Athletic - Lights	\$23.00 / Hour x 4.5	\$103.50		
Athletic - Synthetic	\$60.00 / Hour x 5	\$300.00		

Waivers and Information

INFORMATION DESCRIPTION	SIGNING STATUS
Fields Cancellations	Unchecked

CANCELLATIONS

Non-Tournament Play: All cancellations must be submitted in writing or email. After March 1st, a \$10.00 per hour cancellation fee will be assessed for field use cancelled any time between the receipt of the final schedule and 14 calendar days prior to the field use date. There is no refund of field use fees for cancellations made less than 14 days before the use date. Cancelled use dates will not be included in your schedulethe following year. Light fees will be refunded in full if adequate notice is given and staff is available to re-set lights.

CREDIT ADJUSTMENTS

Your scheduling representative must contact the scheduling office within five working days of a light failure or on-site game/practice rainout cancellation to confirm a credit. Unconfirmed schedule changes will not be credited to your organization. All credit adjustments must be submitted in writing or email.

WAIVER NAME	DUE DATE	FOR	SIGNING STATUS
Release and Waiver of Liability	Feb 13, 2025	Ilyas Mohamed	Unsigned

The undersigned organization or individual using these King County facilities understands that use of these facilities poses certain risks and dangers, including, but not limited to, slips, trips, falls, athletic injuries, illness (including exposure to and infection with viruses or bacteria), unforeseen events caused by the forces of nature, property damage, personal and/or bodily injury, paralysis, death, or other harmful consequences to the undersigned organization or individual, and/or its members and participants. The undersigned organization or individual acknowledges that the preceding list is not inclusive of all possible risks associated with use of these facilities and that said list in no way limits the operation of this Agreement.

In consideration of the undersigned organization's or individual's opportunity to use these facilities, the undersigned organization or individual hereby agrees to assume all risks for any harm, property loss or damage, personal and/or bodily injury, paralysis, death, or other harmful consequences that may occur to the undersigned organization or individual and/or its members and participants in connection with the use of the facilities, regardless of whether such risks, harm, injury, or damage were foreseen or unforeseen. The undersigned organization or individual understands that King County shall not be held liable in any way for any occurrence arising out of the organization's or individual's use of these facilities and agrees to waive any right of recovery. The undersigned organization or individual also agrees to protect, defend, indemnify, and save harmless King County, its officers, officials, employees, and agents, from any and all claims, demands, suits, penalties, losses, damages, judgments, or costs of any kind whatsoever, arising out of or in any way resulting from the use of these facilities. In the event King County incurs any judgement, award and/or cost arising from the organization's or individual's use of these facilities, including attorney fees, all such fees, expenses, and costs shall be recoverable from the undersigned organization or individual.

I, the undersigned individual or authorized and responsible representative of the petitioning organization, hereby certify that the preceding statements are true to the best of my knowledge, and that I have read all of the regulations, policies, and facility use requirements governing users of King County Parks' facilities, which are enclosed with this permit and agree to follow the rules of use for King County Parks codified in the King County Code while using these facilities. The undersigned agrees to accept any and all legal liability for damages to the facility and/or equipment covered in the permit, and/or injuries arising out of or in any way resulting from use of the facilities by any or all of the organization's members.

In the event of a medical emergency, or where there is an imminent threat to public health and safety or the environment, please call 911 immediately.

R14315 Status Approved Page 7 of 8

Signature		

Timing of Payments; Late Fee

Feb 13, 2025

Unsigned

The County shall assess Host a late payment fee of one percent (1.0%) per month until Host pays any balance remaining after the date a fee is due. Failure to remit timely payment shall be a material breach of Host's obligations under this Agreement, and subject to collections referral and/or termination of this Agreement, pursuant to Section 7.1. A copy of the County's Collections Procedures is available upon request.

Payment and Refu	ind				
RECEIPT #	DATE	FEE DESCRIPTION	EVENT	RESOURCE	PAYMENT / REFUND
1004648.017	Jan 6, 2025	Athletic - Lights	2025 - American Recreation Cricket	Big Finn - Soccer - Soccer	\$92.00
1004648.017	Jan 6, 2025	Athletic - Synthetic	2025 - American	Big Finn - Soccer -	\$408.00

Recreation Cricket

Payment Schedules		Original Balar	nce: \$45,457.00	Current Balanc	e: \$44,957.00
DUE DATE	AMOUNT DUE	AMOUNT PAID	WITHDRAWAL AI	DJUSTMENT	BALANCE
Mar 14, 2025	\$45,457.00	\$500.00		\$0.00	\$44,957.00

Attached Files			
NAME	TYPE	SIZE	UPLOAD DATE
Permit#R14315	PDF	172.68 kb	Jan 15, 2025 10:03 AM

X:	X:
Date:	Date:

King Street Center

Mailing Address: 201 S Jackson Street, Seattle, WA

98104

Phone Number: (206) 477-6150

American Recreation Cricket League - RSO

Customer Type: General Public

Customer ID: 63111

Mailing Address: 2424 212th Ave SE, Sammamish, WA

Soccer

98075

Authorized Agent Name: Ilyas Mohamed Cell Phone Number: (425) 753-7060 Email Address: itsilyas@gmail.com

R14315 Status Approved Page 8 of 8